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MOCK TEST – PREPOSITIONS – UNITS 1-7 

 

Choose the correct answer:                                                      

 

1) We never got used to ________ so early. 

a) getting up 

b) get up 

 

2) We met our partners for the first time _________ . 

a) since several weeks 

b) for several weeks 

c) several weeks ago 

 

3) I know ________ . 

a) what time is it 

b) what time it is 

 

4) To do something in “real time” means _________ 

a) to do it thoroughly. 

b) to do it when you have time. 

c) To do it instantaneously. 

 

5) When a market is saturated ________ 

a) it has no room for more goods. 

b) The market is wide open for certain kinds of products only. 

c) The market needs more innovations. 

 

6) The judge __________ damages of a hundred thousand. 

a) awarded 

b) admitted 

 

7) The _________ defendant is the person seeking to prove his/her innocence. 

a) defendant 

b) plaintiff 

 

8) Companies should avoid putting _________ information on their intranet site. 

a) detailed 

b) sensitive 

c) current 

 

9) I am used to ________ on the night shift 

a) working 

b) work 

 

10) We _______ you with some new information 

a) may turn 

b) may give 

c) provide 

 



11) I ________ my umbrella. It‟s turned out very sunny. 

a) needn‟t have brought 

b) didn‟t need to bring 

12) Who ________ today‟s meeting? 

a) tables 

b) beds 

c) chairs 

 

13) Harry suggested _______ a party. 

a) to have 

b) having 

c) of having 

 

14) I want you ________ two letters. 

a) of typing 

b) for type 

c) to type 

 

15) A piece of work that must be completed, especially as part of a long project is called 

a) deliverable 

b) leaflet 

c) culprit 

 

16) A person who starts a new fasion or makes it popular is called 

a) Litigant 

b) Peer 

c) Trendsetter 

 

17) I had my car _________ yesterday. 

a) be repaired 

b) repaired 

 

18) We ________ our offices redecorated last year. 

a) had 

b) have been 

c) have 

 

19) Data accumulation contribute to the increasing information _________ 

a) overload 

b) underload 

 

20) What ______ yesterday? 

a) is happening 

b) will happen 

c) happened 

 

21) Industrial espionage is about gathering information using ________ 

a) confidential procedures 

b) illegal methods 

c) open sources 



 

 

 

22) A subscriber is _________ 

a) a person who pays to hire something or make use of service 

b) a person who gets paid to hire something or make use of a service 

c) someone who sells mobile phone contracts 

 

23) What ____ of business are you in? 

a) line 

b) circle 

c) square 

 

24) Bid is another word for ______ 

a) purchase 

b) offer 

c) buy 

 

25) ________ should be patented. 

a) news 

b) orders 

c) inventions 

 

26) I am right, ____ I? 

a) amn‟t 

b) aren‟t 

 

27) Oh, you are from Paris, _______ you? I know it well! 

a) are 

b) aren‟t 

 

28) Being harsh gives him _______ 

a) credibility 

b) credible 

c) incredible 

 

29) Yesterday I ________ a new car. 

a) used to buy 

b) bought 

c) buy used 

 

30) Britain ______ have high unemployment in the early „eihties. 

a) would 

b) used to 

c) is going to 

 

 

 

 

 



Answer key: 

 

1a 2c 3b 4c 5a 6a 7a 8b 9a 10c 11b 12c 13b 14c 15a 16c 17b 18a 19a 20c 21b 22a 23a 24b 

25c 26b 27a 28a 29b 30b 


